&EFH 2025/6/17

REX

L A BIEBZUR S
JINAIN—— XS5130

¥ 2009%F 1H
2010F9R &EiEH 1k

BEICER it sa D2 L L VR E S WK T, Bl M e AR E% H &R e
DEERRICEYRESAREEHYET . FHT TR,
HEEHOHERE &FY OREXEEXMASHVEHDE T,

HAHGEE T BRIRIEEREY DA TERVESEIYVET,
WA T (FF) ICMULELTEITIC, i Fa s THUET,

NMn—Y—XS130
[380130])



gEF#H 2025/6/17

4E+05 /\1/\—Y— XS130




380130 /\/\—Y— XS130 SE#H  2025/6/17

ME | BaES B @ & BE| BERM W E
1 HSX01 [R—2Z(B) 1| 2,020 | ##aT
2 | HSX02 [70VkAIN—=(C) 1] 4,330 | AH&ERT
3 | HSX03 |[JL—RHILF(A) 1| 2,810 | f#aT
4 | HSX04 [F52T+v(B) 1| 7,120 | #HaT
5 | HSX05 |[¥vA/—=(B) 1| 6,620 | f#a#T
6 HSX06 |7TIVhDviy 1 290 | fHaHT
7 EES (H) 1 170 | figit s
8 HSXO7 [VU2T 1 200 | e T
9 HSX08 |0U>T 1 200 | fHaHT
10 | HSX09 |X%)L(B) 1 [ 1,050 | #Ha¥T
11 HSX10 [(R12J0—5 2 250 | e T
12 | HSX11 [EY (D6) 1 250 | e T
13 | HSX12 [AN=0)vT 1 1,210 | e T
14 | HSX13 |%5mIbh (M4tvh) 1 550 | a1
15 | HSX14 |FvvT 1 250 | e T
16 | HSX15 |L/S=(A) 1| 2,020 | #HaKT
17 | HSX16 [RFU2F(D) 1 550 | e T
18 | HSX17 |itILFE(B) 1 [ 2,020 | #Ha¥&T
19 | HSX18 [RTFU2T(B) 1 250 | #aT
20 TAOYVIISVINILE — (M6X35) 1 170 | ek T
21 EEE(G) 1 170 | H#aH T
22 NATNMFTSUIRIVE  (M5x12) 1 170 | fHaik 1
23 ZO6A [RPUVT (6002DD) 1 950 | #HaT
24 FTAOYVIISVIMIVE — (M4X12) 3 170 | ek T
25 | HSX19 [#TJ2+vTh(B) 1 770 | ARG T
26 CHAL & (B8F PO 7) 1 170 | fHaik 1
27 | HSX20 |L¥yFO7L—hk 1| 4,830 | #HaKT
28 WP (6003VV) 2 1,790 | Mgk T
29 CHAL S & (7\A [FU35) 1 170 | ik 1

30 | HSX21 |[EAVREI+TH(B) 1 [ 4,970 | #HaKT
31 | HSX22 [*+ 1| 3,320 | #HaKT
32 C172 [RPI2T (608VV) 11 1,260 | H#eT

33 [ HSX23 |43 Hh/\=(B) 11 4,070 | ##eHT
34 Cles5 [IR7PIVT (6001VV) 1 1,190 | Mg T
35 I—OvIhZ R0 (M4x10) 2 170 | e T

36 | HSX24 [P~Fa7 W7 a&E)  (100V) 1 117,670 | ##aHT

37 | HSX25 |97UHAR 1 550 | ek T
38 NEYVEIRU (D5x%60) 2 170 | ##eH T

39 | HSX26 [25—%1#A (100V) 1 /10,690 | f#a#cT

40 | HSX27 [J595—5F) 2 | 550 | fHART
41 | HSX28 |I\95 T 11 3,700 | AT

42 | NM17 [h—hVFrvT 2 910 | (IR T

43 | 7C01_[A=—hoToY (71117 __| 2 | 1,030 | f&ET

44 | HP67 [A—iKUmILY 2 | 1,050 | #a#kr

45 X—LJIL—h e EhA A | 1 - AR T

46 A7, RO FARBU (M5%x60 ) 4 170 | AT

47 Y R—LTL—hk 1 — IR T

48 I5IMFvEIRU (D4x25 &) 5 170 | ##eH T

49 | HSX29 [\JBIV(B) 11 2,470 | 68T
50 | HSX30 [RAvFrUH— 1 250 | ik
51 | HSX31 [R1vFi#H 1 110,690 | ##aHT
52 | HSX32 [RFvINRTY 7 770 | (REaIET
53 | HSX33 [RTIVT 1 250 | AR T
54 | HSX34 [\URIL(A) 1 [ 2,470 | fHaET
55 | HSX35 [F31—J(D) 2 250 | i’y
56 I5IMFvEIRU (D4x16) 2 170 | a1
57 | HSX36 [J—RrIUvT 1 250 | gk
58 | HSX37 |O—k7P—¥% (D10.1) 1 250 | fitaiRT
59 | HSX38 [+ I¥ArI—F (2Cx2.6m) 1] 3,060 | ##e#T

50-1| ZB24 |;"E&ERINT (FU4) 1 170

50-2] HSX39 |7—X 1 110,690 | g T




